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SA - ZE . BR(8) - HRAR - BES of v A 2
-ElX= 78,8803 30 2,367
201 er23| 15,926 15,926
01 At22te|Hl 3,846 3,846
O+ 3,846
~HALROIAHI B2 32,0002 122 1,584
HASIEA T 2ATE
25,0002 ~6H =122 1,800
-QIEA HioE 29 38,500& ~ 12 462
02 S3=gl 12,080 12,080 0
OdzHl 1,000,000& 1,000
OAIE2EbBI= X 3,000,000 3,000
Oxtgrset] 8,080
-F5U 1,500& % 180L* 123 +2CH 6,480
—==4H| 200,000 =2CH*4=2 7| 1,600
SSAE 2L 136,772 100,625 36, 147
101 21A4H| 32,688 31,541 1,147
04 JIZtN2Z2 XS 2+ 32,688 31,541 1,147
O=Xlgl& 2e| 29,688
-JlZ2s 78,8803 x1H 247 19,484
-FaRdIesd 78,8803 x 1 »67 5,285
-“AHEE= 24,768,3202%10. 3% 2,552
-Ex=3 78,8803 *30& 2,367
O=sMUEEZAIEY SHE
3,000,000& 3,000
201 er23 | 17,584 17,584
01 At2teltl 6,584 6,584
Odgt+=ZH| 6,584
S22 oEA, FAES S A2S7Y
150,000 122 1,800
=222 ARSE
350,000 22 700
-SAg& RFHEH=
132,000& * 122 1,584
-Jt2I1 7 (E=21) 10,0002 %250 H 2,500
02 S3=gHl 11,000 11,000 0
OAI2EbBI= X 5,000
-SXsl2 Al FXH 5,000,000 5,000
O=32=  HAl 6,000
-SXz2 dJes S 6,000,000& 6,000
401 Al HIZ S OHbI 78,000 50,000 28,000
01 AlZ2H| 78,000 50,000 28,000
Os&sAd= =X &2 ¥ e=lull
50,000,000 50,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFAL & =Xlzl2 FA2 2 28,000
-EA EATEY WHSBA
5,000,000& 5,000
“EAL HEHG 5,000,000& 5,000
S22 BSUH SAt
12,000,000 12,000
25 2od d&ZH EX SA
6,000,000& 6,000
405 AtatsE = 8,500 1,500 7,000
01 TR ESFSHI 8,500 1,500 7,000
O=Xga 328 it & X 7L
8,500,000& 8,500
HH2SB3HI(HOIH) (OIEH/DIE 82,374 89,902 AT,528
Jl238I(Z0t) 82,374 89,902 AT,528
Jl23HI(&0t) 82,374 89,902 AT,528
201 er23| 42,634 44,142 1,508
01 AtR2t2|HI 32,034 33,542 21,508
Ogegt+=EHI 13,000,000 13,000
O=g=< 11,190
-2 A 60,0002 x1H 119! 7,140
=& 9 ME 50,0002 152 750
=Pl 550,000 62 3,300
ou=tl 100,0002 x2&H 200
O=gH| 7,644,000 7,644
2 352484l 10,600 10,600 0
O8&82= £ HA 10,600,000& 10,600
202 04t 18,720 25,200 26,480
01 =LHOHI 18,720 25,200 26,480
O=U048I 120,0002+13&+ 122 18,720
203 =4l 10,120 10,160 A0
01 J122ggR=a| 6,600 6,600 0
OJ|22g8 g2 6,600,000 6,600
02 FRIHAHA =TI 520 560 240
Ot =8| 40,0008 * 132 520
04 A2 LRFAI 3,000 3,000 0
ORNEgE =AY 250,000 x 122 3,000
204 HP MBI 2,400 2,400
01 Mg R 2,400 2,400
ogd 150,000 « 128 1,800
ORHy 50,000& * 122 600
405 AHAHE S 8,500 8,000 500
01 AL =S F=H 8,500 8,000 500
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